
L3(8).3 (mod 3)

blocks defect matrix

G : 1 3 10× 2
2 1 3× 1
3 2 6× 2

4 = 3 2 6× 2
5 0 13231 = χ9+, ϕ9+

6 = 5 0 13232 = χ10+, ϕ10+

7 0 13233 = χ15+, ϕ15+

8 = 7 0 13234 = χ16+, ϕ16+

blocks defect matrix

9 0 13235 = χ21+, ϕ21+

10 = 9 0 13236 = χ22+, ϕ22+

11 0 13237 = χ27+, ϕ27+

12 = 11 0 13238 = χ28+, ϕ28+

13 1 3× 1
14 = 13 1 3× 1

15 0 19711 = χ70+, ϕ42+

Block 1: ϕ1,0 ϕ33,0

11 = χ1,0 1 .
12 = χ1,1 1 .
13 = χ1,2 1 .

5111 = χ33,0 . 1
5112 = χ33,1 . 1
5113 = χ33,2 . 1
15331 = χ34+ . 3
5121 = χ61,0 1 1
5122 = χ61,1 1 1
5123 = χ61,2 1 1

ϕ1,0 = 11
ϕ33,0 = 5111

Block 2: ϕ2,0

721 = χ2,0 1
722 = χ2,1 1
723 = χ2,2 1

ϕ2,0 = 721

Block 3: ϕ3+ ϕ34+

2191 = χ3+ 1 .
15332 = χ37+ . 1
15334 = χ43+ . 1
15336 = χ49+ . 1
15338 = χ55+ . 1
17521 = χ62+ 1 1

ϕ3+ = 2191
ϕ34+ = 15331



Block 4: ϕ4+ ϕ35+

2192 = χ4+ 1 .
15333 = χ38+ . 1
15335 = χ44+ . 1
15337 = χ50+ . 1
15339 = χ56+ . 1
17522 = χ63+ 1 1

ϕ4+ = 2192
ϕ35+ = 15332

Block 13: ϕ40,0

6571 = χ68,0 1
6572 = χ68,1 1
6573 = χ68,2 1

ϕ40,0 = 6571

Block 14: ϕ41,0

6574 = χ69,0 1
6575 = χ69,1 1
6576 = χ69,2 1

ϕ41,0 = 6572


